n. 39, #1-14 all, #23, #31

D 15-dx = 3x @ 2 -Ys = s ®5p-4 =2+ 12
4dx 4 +4s 4s -0 ~ap
|6 = Bx A6 = 135 2p -9 =12
x =3 s =4 3p = dl
p =7
@%64—\0 = 35 + 3 ®5t+lb=6-5t | @ -3c+10 =S¢ -9
- 3y -~ 38 +5¢ +5¢ “18r -8
54 +10 =36 0t +16 = 6 -Bc+10 = -%
5y = 25 [0t = -[0 -\%r = -1%
3= 5 B2 =]
@?’rg«vlﬁfx:&xk( @ w-94+ 2w = b +5w
7-0x = 3+ 3w -2 = 6 +5w
-%x -3 - 5w - 5w
3 -[dx = | 2w -2 = b
13 = Jw = 5
’X:'ﬁ' w = -4




@ 10(g+5) = 2(ax0) | @-Ae-2) = 4(e-15)
104 ¢50 = dg + 1% -4t 1§ = 4t - 60
) ~2 -4t -4e
Ba+50 = 1% -13¢ 41 = ~(0
54 = -33 -13¢ = -9%
?) - —L{ 1t =06
D £ (3x+9) = -2(2x ¢6) 2(2¢+4) = £ (u -9¢)
Ax + b = ~Yx -] Ut +¢ = 1S -6t
&Y +4Yx + it 4 (t
6x + b = -13 0t +¢ = IS
ox = -1% b = (o
g ==3 + = |
@3 1.5(3y +2)-\1 = 2(%1—65 @ f{(‘in) : Qx - 12 (x-1)
45y +3 -y = [by =12 Ax + 3 = Ox 124 +12
3.5y +3 = l(gY-l:z Ax + % = —3x + 12
‘Uo\{ - lby +3x + 3
-1.5y+ 3 = -12 Gx + 5 = 12
-1d.5y = -15 G = %
ol v B
16




You and Yeur Triead drive fowad each ether, The equation

50h = 180 - 45k represeats the avmbec W hours vatil you
ond NOur trieand meet. Aftec how many hout's will You mee{'?

500 = 140 -Y5|,
+45h + 4Sh oo and your friend will
R5h = (40 meat after & hoors.
h =2

@ Two Times the greatec oF twp Consecvtive integecs is § \egs
than three tlmes the lesser inteder. What ot the Inteaers?

let n = the fust inteser €— lessec inteqer
thea n +1 = the setond inteser é—gieater integer

a(net) = 3n -0
An +3 = 3p -9
-3n -3n
-ned = -9 The integecs are 1V and (3.
-n = -1l
noz |

n+\v =19



